



INSTITUTIONAL DEVELOPMENT PLAN

National Agricultural Higher Education Project

Sri Karan Narendra Agriculture University

Jobner-303329, Distt. Jaipur (Rajasthan)

Phone: 01425-254022; Email ID: pi.nahep@sknau.ac.in Date: 24/02/2023

No: SKNAU/NAHEP/Proc./2022-23/ 6

Ref. No: SKNAU/NAHEP/Proc./2022-23/55 dated: 03.02.2023

Activity No.: IN-SKNAU - JOBNER-179317-CW-RFQ/Modification of toilets for

differently abled persons

LETTER OF ACCEPTANCE CUM NOTICE TO PROCEED WITH THE WORK

To

M/s Narayan Lal Kumawat, Contractor, Baber Walon Ki Dhani, Jobner, Jaipur

Dear Sir,

This is to notify you that your Quotation dated 10.02.2023 for execution of the Modification of toilets for differently abled persons at SKNCOA, Johner for the contract price of Rs. 5,19,371.32 (Five Lakh Nineteen Thousand Three Hundred Seventy-One Rupees and Thirty-Two Paisa), is hereby accepted by us. The work will be restricted up to Rs. 5,00000.00 Lakh.

You are hereby requested to furnish performance security for an amount of Rs. 15581.00 (Rupees Fifteen Thousand Five Hundred Eighty-One) (equivalent to 3% of the contract price) within 10 days of the receipt of the letter. The Performance Security in the form of a Bank draft in favour of IDP-NAHEP, SKNAU, Johner shall be valid till the expiry of the period of maintenance i.e. up to 23th February, 2024. Failure to furnish the Performance Security will entail cancellation of the award of contract.

You are also requested to sign the agreement form and proceed with the work not later than 05.03.2023 under the instructions of the Er. Lakhbir Singh, Estate Officer, SKNAU, Jobner and ensure its completion within the contract period.

With the issuance of this acceptance letter and your furnishing the Performance Security, contract for the above said work stands concluded.

Yours faithfully,

PI, IDP-NAHEP

Sri Karan Narendra Agriculture University, Jobner-Jaipur, 303329

ARTICLES OF AGREEMENT

1. This deed of agreement is made in the form of agreement onDay......., Month......., 2023 between the Principal Investigator, IDP-NAHEP, SKNAU, Jobner or his authorized representative (hereinafter referred to as the first party) and Sh. Naryan Lal Kumawat S/O Nathu Lal Kumawat resident of Baber Walon Ki Dhani, Jobner, Jaipur (hereinafter referred to as the second party) to execute the work of "Modification of toilets for differently abled persons at SKNCOA, Jobner" (hereinafter referred to as works) on the following terms and conditions.

2. Cost of the Contract

The total cost of the works (hereinafter referred to as the "total cost") is Rs. 5,19,371.32 [Restricted up to Rs. 5,00000.00 Lakh] as reflected in Annexure – 1A.

3.1 Payments under its contract

Payments to the second party for the construction work will be released by the first party in the following manner: -

50% work done of total work: 50% of total cost
On completion of work: 40% of total cost
Handover of the work: 10% of total cost

- **3.2** Payments at each stage will be made by the first party:
 - a. on the second party submitting an invoice for an equivalent amount;
 - b. on certification of the invoice (except for the first installment) by the engineer nominated by the first party with respect to quality of works in the format in Annexure 2; and
 - c. upon proper and justified utilization of at least 50 % of the previous installment and 100 % of any prior installment.

4 Notice by Contractor to Engineer

The second party, on the works reaching each stage of construction, issue a notice to the first party or the Engineer nominated by the first party (who is responsible for supervising the contractor, administering the contract, certifying the payments due to the contractor, issuing and valuing variations to the contract, awarding extensions of time etc.), to visit the site for certification of stage completion. Within 15 days of the receipt of such notice, the first party or the engineer nominated by it, will ensure issue of stage completion certificate after due verification.

5 Completion time

The works should be completed in 30 days from the date of this Agreement. In exceptional circumstances, the time period stated in this clause may be extended in writing by mutual consent of both the parties.

AP

6 If any of the compensation events mentioned below would prevent the work being completed by the intended completion date, the first party will decide on the intended

completion date being extended by a suitable period:

- a. The first party does not give access to the site or a part thereof by the agreed period.
- b. The first party orders a delay or does not issue completed drawings, specifications or instructions for execution of the work on time.
- c. Ground conditions are substantially more adverse than could reasonably have been assumed before issue of letter of acceptance and from information provided to second party or from visual inspection of the site.
- d. Payments due to the second party are delayed without reason.
- e. Certification for stage completion of the work is delayed unreasonably.
- Any willful delay on the part of the second party in completing the construction within the stipulated period will render him liable to pay liquidated damages *Rs. 260.00 per day which will be deducted from payments due to him. The first party may cancel the contract and take recourse to such other action as deemed appropriate once the total amount of liquidated damages exceeds 2 % of the contract amount.

(*Note: The amount of liquidated damages per day should be determined at 0.05% of the contract value of the works and indicated here).

- 8 Duties and responsibilities of the first party
- **8.1** The first party shall be responsible for providing regular and frequent supervision and guidance to the second party for carrying out the works as per specifications. This will include written guidelines and regular site visit of the authorized personnel of the first party, for checking quality of material and construction to ensure that it is as per the norms.
- **8.2** The first party shall supply 3 sets of drawings, specifications and guidelines to the second party for the proposed works.
- **8.3** Possession of the site will be handed over to the second party within 10 days of signing of the agreement.
- **8.4** The Engineer or such other person as may be authorized by the first party shall hold meeting once in a month where the second party or his representative at site will submit the latest information including progress report and difficulties if any, in the execution of the work. The whole team may jointly inspect the site on a particular day to take stock of activities.
- 8.5 The Engineer shall record his observations/instructions at the time of his site visit in a site register maintained by the second party. The second party will carry out the instructions and promptly rectify any deviations pointed out by the engineer. If the deviations are not rectified, within the time specified in the Engineer's notice, the first party as well as the engineer nominated by it, may instruct stoppage or suspension of the construction. It shall thereupon be open to the first party or the engineer to have the deviations rectified at the cost of the second party.

9 Duties and responsibilities of the second party

The second party shall:

- a. take up the works and arrange for its completion within the time period stipulated in clause 5;
- b. employ suitable skilled persons to carry out the works;
- c. regularly supervise and monitor the progress of work;
- d. abide by the technical suggestions / direction of supervisory personnel including engineers etc. regarding building construction;
- e. be responsible for bringing any discrepancy to the notice of the representative of the first party and seek necessary clarification;
- f. ensure that the work is carried out in accordance with specifications, drawings and within the total of the contract amount without any cost escalation;
- g. keep the first party informed about the progress of work;
- h. be responsible for all security and watch and ward arrangements at site till handing over of the building to the first party; and
- i. maintain necessary insurance against loss of materials/cash, etc. or workman disability compensation claims of the personnel deployed on the works as well as third party claims.
- j. Pay all duties, taxes and other levies payable by construction agencies as per law under the contract (First party will affect deduction from running bills in respect of such taxes as may be imposed under the law).

10 Variations / Extra Items

The works shall be carried out by the second party in accordance with the approved drawings and specifications. However, if, on account of site conditions or any other factors, variations are considered necessary, the following procedure shall be followed: -

- a. The second party shall provide the Engineer with a quotation for carrying out the Variation when requested to do so by the Engineer. The Engineer shall assess the quotation, which shall be given within seven days of the request before the Variation is ordered.
- b. If the quotation given by the second party is unreasonable, the Engineer may order the Variation and make a change to the Contract Price which shall be based on Engineer's own forecast of the effects of the Variation on the Contractor's costs.
- c. The second party shall not be entitled to additional payment for costs which could have been avoided by giving early warning.

11 Securities

The Performance Security shall be provided to the Employer no later than the date specified in the Letter of Acceptance and shall be issued in an amount and form and by a bank or surety acceptable to the Employer. The Performance Security shall be valid until a date 28 days from the date of issue of the Certificate of Completion in the case of a Bank Guarantee.

12 Termination

- **12.1** The Employer may terminate the Contract if the other party causes a fundamental breach of the Contract.
- 12.2 Fundamental breaches of Contract include, but shall not be limited to the following:
 - a. the contractor stops work for 28 days and the stoppage has not been authorized by the Engineer;
 - b. the Contractor has become bankrupt or goes into liquidation other than for a

reconstruction or amalgamation;

- c. the Engineer gives Notice that failure to correct a particular Defect is a fundamental breach of Contract and the Contractor fails to correct it within a reasonable period of time determined by the Engineer;
- d. the Contractor does not maintain a security which is required;
- 12.3 Notwithstanding the above, the Employer may terminate the Contract for convenience.
- 12.4 If the Contract is terminated the Contractor shall stop work immediately, make the Site safe and secure and leave the Site as soon as reasonably possible.

13 Payment upon Termination

- 13.1 If the Contract is terminated because of a fundamental breach of Contract by the Contractor, the Engineer shall issue a certificate for the value of the work done less advance payments received up to the date of the issue of the certificate, less other recoveries due in terms of the contract, less taxes due to be deducted at source as per applicable law.
- 13.2 If the Contract is terminated at the Employer's convenience, the Engineer shall issue a certificate for the value of the work done, the reasonable cost of removal of Equipment, repatriation of the Contractor's personnel employed solely on the Works, and the Contractor's costs of protecting and securing the Works and less advance payments received up to the date of the certificate, less other recoveries due in terms of the contract and less taxes due to be deducted at source as per applicable law.

14 Dispute settlement

If over the works, any dispute arises between the two parties, relating to any aspects of this Agreement, the parties shall first attempt to settle the dispute through mutual and amicable consultation.

In the event of agreement not being reached, the matter will be referred for arbitration by a Sole Arbitrator not below the level of retired Superintending Engineer, PWD to be appointed by the first party. The Arbitration will be conducted in accordance with the Arbitration and Conciliation Act, 1996. The decision of the Arbitrator shall be final and binding on both the parties.

BILL OF QUANTITIES

Name of Work :- Modification of Toilets Bolck In Varioues Department in SKNCOA Johner

Based on:- Intigrated BSR 2022 & Electric BSR 2022

BSRITEM	S.N	Item Description	10	T		r
NO	0.	Tem Description	Quanti	Unit	Rate	Amount
		PART- "A" CIVIL WORK	ty		-	
5.19.2	1	Half Brick work with mechanised autoclaved flyash lime bricks conforming to IS: 12894:2002 of class designation 100 in superstructure above plinth level upto floor V level in. Cement mortar 1:6 (1 cement: 6 coarse sand)		Sqm	557.00	3342.00
4.3	2	Providing and laying in position specified grade of cement concrete for RCC structural elements upto floor five level including curing, compaction, finishing with rendering in cement sand mortar 1:3 (1 cement: 3 coarse sand) and making good the joints and cost of plastizers (if required) excluding the cost of centering, shuttering and reinforcement for Beams, suspended floors, roofs, griders having slopes up to 15°, landings, balconies, shelves, chajjas, lintels, bands, plain windows sills, staircases and spiral staircases etc. M20 grade Nominal Mix / Design Mix	1.00	Cum	5185.00	5185.00
4.10.2		Centering & shuttering with plywood or steel sheets including strutting, propping bracing both ways with steel props and removal of formwork for upto floor five level for: Suspended floors, roofs, landings, staircases, balconies, girders, cantilevers, bands, coping bed plates, anchor blocks, sills, chhajjas, lintel, beam, plinth beam etc.	10.00	Sqm	340.00	3400.00
4.13.3		Providing and fabricating reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding (including cost of binding wire) all complete up to floor five level. ('Original producers' who manufacture billet directly from iron ores and roll the bilets to produce steel conforming to IS:1786) Thermo-mechanically Treated bars (Conforming of relevent IS code)	90.00	Kg	77.00	6930.00
12.3.2	5 l	Plaster on new surface on well	100.00	Sqm	190.00	19000.00
13.29	i di s n n iii n n b iiv s s v o o y	Repair to damaged RCC slabs, beams and columns etc for trengtheing with cement mortar 1:2 in following steps Choping losse and cracked concrete to required depth, cleaning the exposed surface of steel and concrete with wire brush and and papering, cleaning of concrete surface with water as secessary and getting dried. Applying Epoxy primer on the exposed steel bars. Applying Epoxy hardener and resin mix (as per nanufectured's specification) on concrete and steel bars with rush. Speading dry cement mortar 1:2 mix over epoxy treated wet urface and allow it to dry for one day. Plastering the surface with cement sand mortar 1:3 upto depth f 30mm complete. Cure the plastered surface for 15 days Union was including scaffolding etc. complete in all respect.	20.00	Sqm	1568.00	31360.00

ESTATE OFFICER sa Naran Narendra Agriculture University JOBNER, JAIPUR

7.6	T -	The state of the s				ini.
7.5.4 (ii)	7	Providing and fixing Granite stone slab mirror polished and machine edge cut in walls, pillars, steps, Shelves, Sills Counters, Floors etc. laid on 12mm (Av.) thick base of cement mortar 1:3 (1 cement: 3 coarse sand) jointing with white cement mortar 1:2 (1 white cement: 2 marble dust) with pigment to match the shade of the marble slab including grinding, rubbing and polishing complete. South Zed Black Above 3601 Cm2 Slabs		Sqm	3850.00	38500.00
7.21.2	8	Providing and fixing 1st quality MAT & GLOSSY finished ceramic tile confirming to IS: 13755 and IS: 15622 colour such as white, grey, ivory, fume red brown, light green, light blue and other light shades in floors, steps, pillars etc. laid on a bed of neat cement slurry finished with flush pointing in the white cement mixed with pigment to match the shade of the tile complete (including the cost of cement mortar bed 1:4). Size	50.00	Sqm	809.00	40450.00
7.22.2	9	P & F 1st qualityHeavy Duty Vitrified Polished Digital tiles on floor, skirting and steps etc.in different sizes (thickness minimum 10mm) with water absortion less than or equal 0.08% and conforming to IS 15622 of approved make in all colour and shade, laid with 20 mm thick CM 1: 4 including grounting the joints with white cement and matching pigment etc complete. Size 300mm x 450mm	25.00	Sqm	870.00	21750.00
8.13.1.1	10	Providing and fixing external grade board solid core single leaf flush door shutters ISI 2202-67 marked using Phenol formal dehyderesin in glue both sides with approved steel fittings complete as per annexure 'A': 30 mm thick. Commercial Veneer both side	8.00	Sqm	1686.00	13488.00
15.24.4	12	Providing and fixing in CM 1:4 Single paitam (rebated) stone door window and ventilator frames of approved quarry: Size 100 × 75 mm	12.00	Mtr	271.00	3252.00
9.19.3	13	Providing and fixing steel glazed doors windows and ventilator shutters of standard rolled steel section (IS 1038 1983) joints mitred and welded with steel lugs 13x3mm, 10cm. long embedded in cement concrete block 15x10x10cm. of 1:3:6 (1cement: 3 coarse sand: 6 graded stone aggregate 20mm nominal size) or with wooden plugs and screws or rawl plugs and screws with fixing clips or with bolts and nuts as required including providing and fixing of plain glass panes 4mm thick with cooper glazing clips and special metal sash putty of approved make or metal beading with screws complete including priming coat of approval steel primer, excluding the cost of metal beading and other fitting except necessary hinges of pivots steel handles peg stay etc. as required: Windows side hung /Ventilators top or centre	10.00	Sqm	3135.00	31350.00

10 X

ESTATE OFFICER
5- Karan Narendra Agriculture University
JOBNER, JAIPUR

16.56 (в)	14	Providing and fixing stainless steel railing made of Hollow tubes, channels, plates etc., including welding, grinding,		Kg	503.00	30180.00
		buffing, polishing and making curvature (wherever required) and fitting the same with necessary stainless steel nuts and bolts complete, i/c fixing the railing with				
		necessary accessories & stainless steel dash fasteners, stainless steel bolts etc., of required size, on the top of the			1	
		floor or the side of waist slab with suitable arrangement as				
		per approval of Engineer-in-charge, (for payment purpose				
		only weight of stainless steel members shall be considered excluding fixing accessories such as nuts, bolts, fasteners				
S-1.13	15	P & F White Vitreous China Double Syphonic European	6.00	Each	12114.00	72684.00
		W.C. (I.S:2556Mark) with mounted W.V.C. flushing cistern of (IS: 2556 Mark) of 10 litre capacity complete				
		with all necessary internal fittings including cutting and				
S-1,20,2	16	making good the wail and floor.				
5-1,20,2	10	P & F Low level Flushing Cistern of 10 litres capacity (IS : 2556mark). Of approved make with complete fittings	3.00	Each	1291.00	3873.00
		C.I. brackets duly painted, brass ball cock with ball. (IS:				
		1703 mark) complete including cutting and making good				
		the wall: PVC with PVC bend as per IS: 7231.				
S-2.38.1	17	Providing and fixing Chlorinated Polyvinyl Chloride				
		(CPVC) pipes, having thermal stability for hot & cold water supply including all CPVC plain & brass threaded			1	
		fittings i/c fixing the pipe with clamps at 1.00 m spacing.				
		This includes jointing of pipes & fittings with one step			1	
		CPVC solvent cement and the cost of cutting chases and				
		making good the same including testing of joints complete as per direction of Engineer in Charge. (Concealed work		17		
		including cutting chases and making good the walls etc.,)				Ā
	Ä.	: 15 mm dia nominal bore 'B' Class	25.00	Mtr	279.00	6975.00
S-2.38.3	В	25mm dia nominal bore 'B' Class	25.00	Mtr	376.00	9400.00
S-2.26.3	18	P & F PVC Storage Tank ISI Marked (IS: 12701)	2.00	Each	3920.00	7840.00
		indicating the BIS license No), of approved make with cover, 25mm dia 1M long G.I. over-flow pipe & 25 Cm.			1	
		long wash out pipe with plug & socket, including making			1	
		connection etc., complete of approved design: 500			ĺ	
S-3.16.3	19	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg.				
		/Cm2.) approved quality /make including joining the pipe			1	
		with solvent cement rubber ring and lubricant.				
S-3.16.4	A B	(A)110mm dia (B)160 mm dia	20.00	Mtr	282.00	5640.00
S-1.44.2	20		50.00	Mtr	463.00	23150.00
5-1,44,2	20	P & F Bevelled edge Mirror/mirror with teak wood lipping around of special glass of approved make as per direction	30.00	Sqm	1538.00	46140.00
		of Engineer-in-charge complete with 6mm thick				
		commercial ply base fixed to wooden screws & washers.		- 1		
S-2.6.4	21	Other sizes P & F Pilllar Cocks (IS :8934 Mark) of superior quality		-		
		and approved make:				
	A	C.P. Pillar cock, Swan Neck With casted Spout 15 mm dia	8.00	Each	1246.00	9968.00
		nominal bore				

K

ESTATE OFFICER
Saran Narendra Agriculture University
JOBNER, JAIPUR

S-2.12.1	22	P & F Inlet Connection (Angle Valves) Superior quality, of approved make, for Wash basin, Gyser etc.				
	Α	C.P. Inlet connection 15mm.Brass (IS: 8931 marked)	10.00	Each	501.00	5010.00
S-1.14.2	23	P & F lst quality WVC Urinal (IS:2556 mark) with 25mm dia G.I. waste pipe, dome waste couplings, concealed iron brackets or screws etc complete. Flat Back (large) or half stall size 610x400x80mm.	5.00	Each	4637.00	23185.00
S-1.36.9	24	P & F WVC Wash basin (Ist quality IS:2556 Mark) of approved make with C.I. brackets duly painted 1 No. 15 mm C.P. Pillar cock (IS:8934 Mark) & 32 mm C.P. brass waste coupling of approved make, P.V.C Waste pipe with PVC nut 32 mm complete including cutting & making good the wall: Size 630 mm x 500 mm dia for counter top	6.00	Each	3265.00	19590.00
E-15.5.3	25	Providing & Fixing of of BLDC Technology ventilating fans, single phase with PVC impeller, ABS body, Double Ball bearing, automatic back lower shutter including making connection, testing etc. as required. All as per pre approved by Engineer in charge. For additional technical parameters of products/ work, refer Annexure "A" attached with this BSR.		e e		
		250 mm sweep with Min. Air delivery 1150 cmh, 1300 RPM	5.00	Each	2741.00	13705.00
- NO.			-	Total R	s.	495347.00

Gross Total Cost: Rs. 519371.32

We agree to execute the works in accordance with the approved drawings and technical specifications at percentage above/below the estimated rates, i.e., for a total contract price of Rs. 51937132 (amount in (Rs. Leukh Nimetern Thousand Three hundred amount

Signature of Contractor Serventy ome Rupers & Thirty-Two puisey)

ESTATE OFFICER ६- Naran Narendra Agriculture University JOBNER, JAIPUR

Format of certificate

 	Certified that the works uptoof construction ofexecuted in accordance with the approved drawing	at have been
		Signature
		Name & Designation
		(Official address)
	Place:	
	Date:	

Office seal